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Under each statement three options (A, B, C) are given. Select the most

appropriate option and write the capital letter against the numerical. (2)

France helped the thirteen American Colonies to gain their independence from

Britain B) Russia C) Germany

Slavery was abolished in the French colonies in
1852 B) 1848 C) 1856

The pamphlet “What is the Third Estate” was written by
Abbe Sieyes B) Rousseau C) Mirabeau

The Sans-culottes men wore the red caps to symbolise
Equality B) Freedom C) Liberty

Answer the following questions in one sentence each.
What was known as the convention in France?

Name the most famous women’s clubs in France.

(2)

Answer any one of the following questions in two sentences each. 2)
Give any two reasons to call the rich amateurs by the Cricket Organisation in

England.
How was it possible for Parsis to set up Cricket club in India?
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Answer any one of the following questions in about four points. (4)
What difficulties did Louis XVI face as soon as he ascended the throne of France?
How did the gap between the poor and rich widen in France?

In column ‘A’ are listed with some items. Match the items with the statements given
in column ‘B’ correctly and write the capital letters against the numerical : (2)

Column ‘A’ Column ‘B’
Robert Owen A) April Theses
The Tsarina B) Muslim Reformers
Vladimir Lenin C) New Harmony in Indiana
Jadidists D) Tsar of Russia
E) Rasputin
Answer the following questions in one sentence each. (2)
Which were the prominent industrial areas in Russia in the twentieth century?

Who was the leader of the Military Revolutionary Committee?

Give two reasons for the following statements. (6)
Many factories were established in Russia in the 1890’s.

The 1905 Revolution was a turbulent time in Russia.

Russian peasants were different from other European peasants.

The words in Column ‘A’ bear particular relationship to the words in Column ‘B’.
Write in Column ‘D’ the words bearing the similar relationship to those in Column

‘C’ using the numerical: (2)
Column ‘A’ Column ‘B’ Column ‘C’ Column ‘D’
Best Cricketer of Learie Australian Cricketer
the West Indies Constantine played cricket with
who played with aluminium bat
wooden bat
Gentlemen Amateurs Players
World’s first 1760s Marylebone
Cricket club Cricket club
Chepauk Chennai Feroz Shah Kotla
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Answer the following questions in one sentence each. (4)
What is the height of the stumps in the game of cricket?

Name the Australian television tycoon who saw the money making potential of
cricket?

When did India enter the world of Test cricket?

Who imposed Martial law in Poland in December 19817

Answer the following questions in two sentences each. (Any two) (4)
What were the effect on the people of Chile after Pinochet’s government was
established?

How does the International Monetary Fund Organisation work?

What are the functions of the UN Security Council?

Under each statement three options (A, B, C) are given. Select the most
appropriate option and write the capital letter against the numerical. (2)

General Pervez Musharraf became president of Pakistan in
2002 B) 1999 C) 2000

Mexico holds elections after every six years to elect its

Governor B) President C) Prime Minister

We celebrate 26th January as

Republic Day B) Liberation Day C) Independence Day
The chairman of the drafting committee of Indian Constitution was

Dr. Ambedkar B) Vallabhbhai Patel C) Jawaharlal Nehru

Answer the following questions in one sentence each. (2)

Name the organisation which led the struggle against the policies of segregation in

South Africa.

Where was Nelson Mandela imprisoned for 28 years in South Africa?
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Give two reasons for any one of the following statement.

Democracy is better than any other form of government.

President Robert Mugabe used unfair practices in Zimbabwe.

Answer the following questions in two sentences.
Why do we need the constitution?

In what way apartheid system was oppressive for the blacks?

THE END
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